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Sample Paper
Russian Class XllI (2020)
Max. marks 80

Part A Marks 40

Question nos. 1 to 5 are multi choice questions. Choose one right answer out of the
four options given for each question

Question No. 1 (Attempt any eight questions out of ten) 8x1=8

l. Give antonym of the sentence:

OH oToWwEén OT JOCKM

W e

OH nogoLén K gocke
OH nogoweén Ha gocky
OH nowén kK gocke

OH Wweén Kk gocke

Il. Fill in the blank with appropriate participle in the sentence:

B nucbwme .......... MHOW 13 goma, 6bina goTtorpadums.

PR

NonyYmBLLEM
Nony4eHHOM

nony4YyeHHoMy
nony4mBeLLemMy

Il Fill in the blanks with proper form of the word «B3pocnble» in the sentence:

HPaBUTCA YNTATb

Bapocnnmu
Bapocnbix
Bapocnbim
Bapocnble



V. Fill in the blanks with proper form of the verb «[daBatb — gatb» in the

sentence:
........... MHE KHUTY OH MONPOCUI MEHS BEPHYTb €€ Yepes OeHb.
1. Odan
2. [asan
3. Haért
4. [aBas
V. Fill in the blanks with proper form of the words «aTtoT Bok3an» in the
sentence:

HoBbin KMHOTEeaTp HaxoaAnUTCA pAaAaoMm ..........

C 3TOro BoK3ana
C 3TUM BOK3aJ1OM
3TUM BOK3alriom
3TOro BokK3sarna

hwn e

VI. Choose the right answer to the question
Kyaa Bbl xogunu ytpom?

YTpom 9 xoaun K Bpady
YTpoM 4 Wen K Bpady
YTpoM 4 nowén K spady
YTpom 4 noexan K Bpavy

PR

VII.  Chose the right word combination
1. 3MMHUIA KaHUKYIbI
2. 3UMHOE KaHWKyIbl
3. 3uMHble KaHUKyINbI
4. 3MMHUE KaHUKYNbI

VIII.  Fill in the blanks

B komHaTe He ObISo ..........



OOCKN N Mena
OOCKa N Mmen
OOCKN N Men
OOCKa N Mena

HwnhPRE

IX. Fill in the blank with the right preposition
YYeHuK BbILEN .......... KOMHaTbl

1. okono
2. C
3. n3
4. K

X. Fill in the blank with proper form of the participle

A HaWEnN KHUTy .......... OTLLOM.

TepsiLLyto
NOTEPSIHHYHO
NOTEPSABLUYHO
noTepsiHHas

PR

Question No. 2 (Attempt any eight questions out of ten) 8x1=8

l. Choose the correct sentence
1. ABTOMOOUNb OTbEXana oT Aoma.
2. ABTOMOOMNb OTbEXan U3 AoMa.
3. ABTOMOOMNb OTbEXan OT AOMA.
4. ABTOMOOMNb OTOLLNA OT AOMaA.

Il. Which of the following is the present participle active from the verb
«CcpaBaTb»

CpaBaBLunm

CpasLuunmn

Cpasatowmmn

Cpaowmn

N\ e



VI.

VII.

Complete the following sentence

£ Bcerga coBeTyroCh ..........

HwnhPRE

C OTUOM N C MaTepbio
C OTUOM KN C MmaTepun
C OoTua n ¢ MaTepbio
OTUOM N MaTepblo

Fill in the blanks

NHouns nosyyunna He3aBuCMMOCTbD ..........

HwnNPE

B TbiCAYa OEBATCOT CeabMOro roga.
B TbiCAYa OAeBATCOT ceAbMOM roay.
ThbiCAYa AeBATCOT CeaAbMOM roay.

B TbiCAYEe OEeBATCOT CeAbMOM roay.

Give the genitive case of «Mowu 6paTbs»

1.

2.
3.
4

Mowum GpaTbeB
Mowu 6paTbeB
Mowux bpaTtbeB
Mowux 6paTtoB

Complete the sentences

Ham HpaBaTca nekumm ..........

N\ e

Fill in the blank with the right form of the verb in the sentence

3TOro npenopaBaTens
y 9TOro npenogasatens
OT 3TOro npenogasartens
C 3TOro npenogaBaTens

A paBHO HE .......... C yuuTtenem.

1. BnageTbecq



2. Bugencs
3. Bugen
4. yBupenca

VIII. Fill in the blank with the proper form of the pronouns
A yyycb .......... B OAHOW rpynne.

1. CHux

2. CHamu
3. C HUMM
4. c Hero

IX. Fill in the blank with the right word combination
Buepa .......... Mbl MOMMann MHOro pbibbl.

1. B AoBa 4aca BpeMeHu
2. Ha OgBaudaca

3. gBa vaca

4. 3a gBa 4aca

X. When is the Victory Day (MpasgHuk Nobeabl) celebrated in Russia?
1. 7 oktabps
2. 1wmaq
3. 9 maqa
4. 7 HoA0ps

Question No. 3 (Attempt any eight out of eleven questions) 8x1=8
l. Complete the sentences with the right combination
BukTop xopowlo urpaer ...........

1. ckpunky

2. Ha CKpUnky
3. Ha cKpurike
4. B CKpUNKY



I. Mark the correct sentence
1. Y MeH4d 3aMEpP3nn pyku C MOpOo3a.
2. Y MeHs 3aMEp3nun pyku OT MOpo3a.
3. Y MeHs 3aMép3anu pyku n3 Mopo3sa.
4. Y MeHsi 3aMEép3anu pykun y Mopoasa.

1. Select the correct sentence
1. AHTOH cpasy BcroMuHarsn Ha3BaHue punbma.
2. AHTOH cpa3sy NOMHWI Ha3BaHue punbma.
3. AHTOH cpasy BCMNOMHUT Ha3BaHue unbma.
4. AHTOH cpa3sy BCMOMHUI Ha3BaHue unbma.

V. Fill in the blanks with the proper forms of the verb «xoTeTbca»
Pebartam .......... Aenartb Teneckon.

1. xoyetcqa
2. XOoT4aTCA

3. XoTumcs
4. xoTeTbcA

V. Choose the right answer to the following question
Yen 910 cTaanoH?

OH NpUHaANeXuT K yHUBEPCUTETY.
OH NpUHaaNexuT yHUBEPCUTETY.
OH NpuHaanexuT yHuBepcuTeTa.
OH NpuHaanexuT yHuBepcuTeTe.

N\ e

VI. Choose the equivalent of the sentence
Bo cHa 51 yacTo BMXy Mope.

1. MHe 4acTo CHUTLCH O MOpe.
2. MHe 4acTo CHUTbCA NPO MOpeE.



3. MHe yacTo cHATCcs Mope.
4. MHe yacTo cHMTCA Mope.

VII. Complete the sentence
OH NpuLWEN AOMON WU ..........

caguncsa Ha guBaH
cAadeT Ha AMBaH
cen Ha auBaH

cen Ha guBaHe

N Re

VIII.  Put the right word in the blank
B Hawem knybe cobpanucb CTygeHThlI, .......... Ha Beuvep.

npurnacueLLne
NpUrnawweéHHbIe
NpUrnacuBLLMX

npurnacawpoLue

PObdbE

IX. Fill in the blank with the required participle in the given sentence

Uenosex .......... HaM Ha BCTpeu4y, Hall 3HaKOMbIW.

nayliero
nayiemy
noyLwmn
XOOALWMN

PwnNPE

X. Make “Gerund” from the verb «BepHyTbCA»
1. BepHyBLUUCH
2. BEpHyB
3. BepHyBLINNCA
4. BO3BpaLllaschb



XI. Make an interrogative sentence for the statement
KHura nexut Ha kpoBaTu

YTto nexana Ha kpoBatn?
YTo nexanu Ha kpoBatn?
YTo nexxano Ha kpoBaTb?
YTto nexano Ha kpoBatn?

howpnPE

Question no. 4. (Attempt any eight out of eleven questions) 8x1=8

Give the passive voice construction of the sentence
[ouyb oTKpbINa ABEpPb

1. [1Bepb OTKpbITa OOYEpPLIO.

2. [1Bepb OTKpbITa OT JoYepU.

3. [lBepb OTKPbLIT 4OYEPLIO.

4. [1Bepb OTKpbIBanacb 40YEpPLIO.

. Fill in the blanks with the proper form of the verb «co3gaBatb — co3gaTb»

oBopAT, 4TO 4epe3 20 net B KOCMOCE .......... WHCTUTYTbI, B
KOTOpbIX ByayT paboTtaTb OM3MKN, XUMUKU U OpYrye.

1. co3pact
2. co3gagyt
3. co3pagut
4. cospatoT

Il Make proper participle for the underlined words in the sentence

Mbl nogoLwnu K 03epy 1 yBuaeNu Noaky, kotopas nexuT Ha 6epery.

nexatiee
nexauias
nexaltiyo
nexasLuas

i A



V.

Give equivalent construction of the sentence

A Hn4yero He BUXY 3aecb

e

V.

CerogHsa a sctan

o

VI.

OTa 3agava o4veHb TpyaHasa. MHe eé

PN PRE

VII.

Mo popore pomown, s

30€ecb HUYEro HX BUAHO.
30€ecb HMYEro He BUAETD.
30ecb HeYyero He BUAHO.
34ecb HUYero He BUAHO.

Fill in the blanks with proper words

paHbLUe Bcex
paHblUe BCero
paHblLe y Bcex
paHbLUe Ka)Xaoro

Fill in the blanks with one of the options

He peLnTb.

HW 3a 4YTO
HEe 3a 4TO
HEeT 3a 4To
HW 3a 4eM

Insert the proper verb of motion in the blank

Ha nouTy.

NOLLEN
3aweén
Xoaurn

BOLLEN

i A



VIII. Give the imperfective aspect of the verb «ctatb»
1. yctaBaTb
2. ycTtaTtb
3. CTaHOBUTbLCAH
4. BcTaBaTb

IX. Complete the sentence with one of the four given options
K npasgHuKy mMbl yKpacunm KOy ..........

K LBETaM
noa uBeTamu
C uBeTamu
LBeTamm

hownPE

X. Make future tense of the sentence

ToBapwuL cnac MeHs.

1. ToBapuu, cnacaeT MeHs.
2. ToBapwuly CNaceT MeHs.
3. Toapuw, bygeTt cnacatb MeHS.
4. ToBapwuLy cnacuT MeHs.
XI. Fill in the blanks with the proper verb
Manb4nk ObIn1 JOBOSEH, YTO .......... KaHWKy-bl.
1. Havanucb
2. HaduHanu
3. Havanu
4, HavaTbcs



Question No. 5 ((Attempt any eight out of eleven questions) 8x1=8

Fill in the proper preposition
YYEeHUKN OCTaHOBUMUCD .......... naBunboHa «PagnoaneKkTpoHvKay.

3a
OKOIno
nepen
Hag

e

Il. Fill in the blank with the suitable verb

Cenyac no pagvo .......... nocnegHue N3BecTus.
1. nepepam
2. nepegpagnm
3. nepegaém
4. nepepatoT

Il Fill in the blank with the right preposition
OTOT y4ebHMK HanMCcaH Ans CTyQEHTOB .......... PYCCKUI AA3bIK.

N3yyaroLLmx
N3YYEHHbIX
nsyvatwoine
N3yYeHHble

hPwonNPRE

V. Give the indirect speech of the following sentence
BukTop cnpocun pebaT: «Bbl cornacHbl CO MHOW?»

1. BukTop cnpocun pebaT, ecrnv OHM COrnacHbl C HUM.
2. Buktop cnpocun pebsaT, cornacHbl Sii OHU C HUM?
3. BwukTop cnpocun pebsaT, cornacHbl S OHU C HAM.
4. Buktop cnpocun pebaT, cornacHbl v Bbl CO MHOMN.



V. Choose the equivalent of the English idiom

Better late than never

howpnPE

J'Iyl-lme no3agHo, 4em HeKoraa.
MosgHo ydule, 4yemM HuUKorga.
J'Iyl-lme no3agHo, 4em HMKoraa.
ny‘-ll_IJe ona3gbiBaTb, YEM HUKOrga.

VI. Fill in the blanks with one of the verbs given below

Ero 6paT ewwsé .......... B LLKOSEe, CKOPO OH ByaeT B Konnemgxe.

1
2
3.
4

yumTcst
yumT

3aHnmMaeTcs

3aHumaeT

VII. Make passive construction from the sentence

3a gBa rofa nNoCTPOSAT HOBbIN My3€eN.

PObdbE

HoBbIi My3ei 6bIr1 NOCTPOEH 3a ABa roga.
HoBbIi My3en 6yaeT NnoCcTpoOeH 3a ABa roga.
HoBbI My3en NOCTpoeH 3a ABa roga.
HoBbIi My3ein ByaeT NOCTPOEHO 3a ABa roga.

VIII. Choose the equivalent construction of the two given sentences

lNMpenogaBaTenb NOET B Knacc.

B pykax y Hero Hawm TeTpaaw.

i A

lMpenogaBaTtenb BEAET B Kracc Haluv TeTpaau.
lMpenogaBaTtenb BE3ET B Klacc HaWK TeTpaau.
lMpenogaBaTenb HOCUT B Knacc Haluu TeTpaau.
lMpenogaBaTternb HECET B KNacc HaLUM TeTpaau.



IX. Fill in the blanks with proper verb of motion

MawwnHa “Ckopasi nomMmouib» yexana W ......... 6onbHOro B
OonbHULY.

1. yBe3na
2. yHecna
3. yBo3una
4. npusesna

X. Fill in the blanks with proper combination
Cectpa goexana Ha aBTobyce ..........

B LLKOMY
K LuKkone
00 LWKONbI
[0 WwKonoun

e

XI. Choose the correct sentence
1. Mol XOTMM, 4YTO Bbl NOMOranTe AHHe.
2. Mbl xO0TM, 4TOObI Bbl MOMOrN AHHe.
3. Mbl XOTUM Bbl MOMOTIN AHHE.
4. Mbl XOTUM Bac nNomMo4b AHHe.

PART B Max. marks : 40

Question No. 6.
Read the passage and answer any 5 questions given below 5x2=10

Cepret AHTOHOBMY PposoB M3 ABaALATb BOCbMOW KBAapTUPbI
6bln cambiMm 06bIKHOBEHHBIM YesioBeKoM. Koraa cocebl cnpawmsanu «Kak
nena?» oH otBe4van «HopmanbHO». BCE B ero KM3HM ObII0 HOPMAsIbHO U
0bblkHOBeHHO. Karkpoe yTpo Cepreir AHTOHOBWY 3aBTpPaKan M LWEN Ha
paboTty. Ho KaxKabli Bevep U Kaxaoe BOCKPeCceHbe OH NpoBoAun goma. A



3abbin cKaszaTb, YTo PponoB 6bin pagnontobUTENEM U OYEHb XOPOLUMM
paguontobutenem.

Ho 4yeTBépToro oktabps 1957 (TbicAya AeBATCOT NATbAECAT
ceabMoro) roga, Korga Bce Y3Ha/NWM, YTO NepBblit COBETCKMUI CNYTHUK B
Kocmoce, PponoB NPUHAN CUTHANblI M3 Kocmoca. [a, ato «bun-6mn-6mn»
KoTopoe Tenepb 3HalT Bce. PponoB o4veHb o0bpagoBanca M NoCAan
Tenerpammy B Akagemutio Hayk CCCP.

Yepes Hegento PponosB noayunn nnucbmMo u3 AKagemum Hayk:
«MHoroyBaxkaembii Cepreit AHTOHOBKMY! Bnrarogapvm Bac 3a Tesierpammy.
MosapaBnsem Bac... enaem ganbHenwmx ycnexos... ».

Becb Haw gom ropgunca torga cD[Z)OJ'IOBbIM, Ada U Tenepb BO
aBope rosopAT: «Mbl UBEM B OAHOM JOMe C TEM Ye/NIOBEKOM, I-(OTOprI;i
NPUHAN CUTHANbl U3 KOCMOCa».

1. B kakown kBapTtupe xun Cepreit PponoB M Kak OH OTBETMA Ha
BOMPOCHI coceaen?

Kaknm yenosekom 6bin Cepren dponos?

YTO OH Aenan Kaxapln AeHb U KaxKa0e BOCKpeceHbe?

Y10 chyumnnoch 4-oro oktaAbpa 1957 ropa?

Kyaa ®ponos nocnan renerpammy u noyemy?

o Uk whN

MNouemy ntoaun B gome ropaatca Pponosbim?

Question No. 7.
Write a composition of about 150 — 200 words on any of the following topics
1x10=10
1. Mowu pgeTcKkme BCNOMUHaHUe
2. Mo ntobumbin punbm
3. HacraguoHe



Question No. 8

Answer any four questions based on the text book 4x25=10

[y

Pacckaxkute s Tekcta «Muble 3Bepu», 4To NOOUT genaTb Bana.

Mouyemy aBTOp paccKasa «Ky3sKa», Xxo4eT YTobbl NOMNON3EH XU B necy?

Pacckaxkute mn3 Tekcta «Hawa mama», YTO CAY4MIOCb MOC/Ae TOro Kak

Mama KOH4YMAa CBOM AOKIAA,.

4. Kakune 6biam pucyHkn Hagum PyweBon? Kak OHa cTana XyAOXHUKOM?
Pacckarkute 13 TekcTa «Korga oTKpbIBatOTCA TaNaHTbI»?

5. Yto coBeTtyeT AenaTb aBTOp TEKCTa «4enoBeEK MOXKET BCEN

6. Mouemy Bce NOHBAT OTLA B paccKase «3a uTo Ntobat?»

Question No. 9

Translate any five sentences into English 5x1=5

Henb3s HauMHaTb HOBOE AeNa, He 3aKOHYMB CTApPOTO.
ManbynK AaBHO MeYTan CTaTb BPA4oM.

Mol 3abbinm B3ATb cBOM GOTOANMNapaT Ha BbICTABKY.
JleHa npuHecna NTULy AOMOM M cnacsa eé oT X0no04a.
Ceyac o4eHb MHOTO NPodEeccuin, OHM TaKkne pasHble.

O U s WwWwNPE

Mama Bcerga rosopuaa, 4YTo A NOXOXK Ha OTua.

Question No. 10

1. Translate any five sentences into Russian 5x1=5

Why is the baby crying? Give him some milk.
| am very hungry, let us go to a restaurant.
It seems he has passed the examination.

s w e

Doctor has advised him to drink lot of water.



5. After writing on the blackboard, the teacher sat down.
6. We didn’t have some examinations last year.



